[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
$0.07
3]
£0.06
0.05,
0.04
0.03

0.02

W LAARN L AR AR LAARN LR RARRN RRRR LARRN RRRLERARE]

e
0.01
o @
= E
T 1.1
o
A
0.9
0.8

1072 10 1 10 0?
TP vertr (cr%)

M_TT__ORIGINAL
M_TT__MODIFIED_layerProcv2

DU
DQM_TT | _|
ici DOQM_TT__MODIFIED layerProcv2_windows
Efficiend = pSM 1T MODIFIED layerProcy2 windows. hits

N 0.2r

I A
) . . . . .
L L L S
> : : : : :
2 : : : : :
JoRE T S S A S |
S : : : : :
O R R L SR
() . . . .

.................................

AL,
TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05
>
00.045
S
#0-04
$.035
3
£0.03
Q
9.025
()
0.02
0.015
0.01
0.005

1QF

Ratio

1.1F

i ;
okt ELITLET T ]
=20 -15 -10 -5 0 5

Sim. PV z (cm)



	Contents
	Page 1


